

$$(1) \quad 3x^2 - ax + 5 = 0$$

کاملر a و x برابر رہے ہیں
اختلاف $a = a_1$
 α, β

$$\alpha + \beta = \frac{a}{3}$$

$$\alpha\beta = \frac{5}{3}$$

$$5 = \alpha + \beta = \frac{a}{3}$$

$$3\beta = \frac{a}{3} \Rightarrow \beta = \frac{a}{9}$$

$$\frac{a}{9} + \frac{5}{3} = \frac{a}{3} \Rightarrow a = 15$$

$$(2) \quad 34x^2 - (m+14)x + 1 = 0 \rightarrow \sqrt{\frac{1}{x_1}} + \sqrt{\frac{1}{x_2}} = 5$$

سویج جابر حلوس ω

$$m \cdot x^2 + 14x + 1 = 0 \rightarrow \alpha\beta = 1$$

$$x_1 + x_2 = \frac{m+14}{34} \quad x_1 x_2 = \frac{1}{34} \quad a = \sqrt{\frac{1}{x_1}} \quad b = \sqrt{\frac{1}{x_2}}$$

$$a + b = \sqrt{\frac{1}{x_1} + \frac{1}{x_2}} = \sqrt{\frac{x_1 + x_2}{x_1 x_2}} = \sqrt{\frac{m+14}{1}} = m+14$$

$$m+14 = 5 \Rightarrow m = -9$$

$$(3) \quad x^2 - 2x + 1 = 0$$

$$\alpha\beta = 1 \quad \alpha + \beta = 2 \quad (x^2 - 2x + 1) = (x-1)^2$$

$$\alpha + \beta = 2 \Rightarrow \frac{2}{1} = 2$$

$$\alpha\beta = 1 \Rightarrow (-1) \cdot 1 = -1$$

$$\alpha + \beta = 2 \Rightarrow \frac{2}{1} = 2$$

$$-1 = -1 \Rightarrow \boxed{K = -1}$$

(4) α, β $x^2 + 4x + a = 0$ $\alpha < \beta < 0$

$$3\alpha^2 + 2\beta^2 = 12\sqrt{2} + 14$$

$$a = ?$$

$$\alpha + \beta = -4$$

$$\alpha^2 + \beta^2 + (\alpha + \beta)^2 - 2\alpha\beta = 16 - 2a \rightarrow 3\alpha^2 + 2\beta^2 + (\alpha + \beta) + (a)$$

$$a = -4 - a$$

$$\beta = -4 + \sqrt{1-a}$$

$$a^2 = 4 + 4\sqrt{1-a} + 1 - a \rightarrow (a = 0)$$

(5) $x^2 - 4x - a = 0$ $\rightarrow t^2 - 4t - a = 0$

$$s, p$$

$$2p^2 - 2sp + 2s$$

$$4x^2$$

$$t = \frac{4 \pm \sqrt{16+4a}}{2} \rightarrow \frac{4 \pm \sqrt{4a+16}}{2}$$

$$\frac{4 \pm \sqrt{4a+16}}{2} \rightarrow 2 \pm \sqrt{\frac{4a+16}{4}}$$

$$s = \sqrt{\frac{4a+16}{4}} - \sqrt{\frac{4a+16}{4}} = 0 \quad p = \frac{4 \pm \sqrt{4a+16}}{2}$$

$$2p^2 - 2sp + 2s \rightarrow 2p^2 \rightarrow p^2 \left(\frac{4 \pm \sqrt{4a+16}}{2} \right)^2$$

$$\frac{11 \pm 10\sqrt{4a+16}}{2}$$

$$2p^2 \left(\frac{4 \pm \sqrt{4a+16}}{2} \right)^2$$

(6) $ax^2 - ax + b = 0$ $\rightarrow ax^2 + ax + 4 = 0$

$$s_1 s_2 = \frac{a}{a} = 1 \quad p_1 s_2 = \frac{4}{a} \quad -\frac{1}{a}$$

$$\left[\frac{ab}{a} \right]$$

$$s_1 s_2 s_1 + 1 s_1$$

$$p_1 s_2 p_1 + \frac{1}{p} s_1 + \frac{1}{p} s_2 - \frac{1}{p} + \frac{1}{p} s_2 - \frac{1}{p}$$

$$s_1 s_2 \frac{a}{a} s_1 a s_1$$

$$p_1 s_2 p_1 s_2 b s_2 - 4$$

$$\frac{ab}{a} s_1 \frac{1 \times (-4)}{a} s_2 - \frac{1}{p} \rightarrow (-1)$$

⑦ $\epsilon_0 \beta^r + \epsilon_0 \alpha^r - r \cdot \beta_s \mid U$ $a x^r - a x - b s_0$ $\beta_s \alpha$

$\alpha + \beta_s \mid$ $\alpha \beta = -\frac{b}{a} \rightarrow r_0 (r \beta^r + \alpha^r - \beta) \mid U$ $\alpha - \beta_s ?$

$\alpha^r (1 - \beta)^r \mid - r \beta + \beta^r$

$r_0 (r \beta^r - r \beta + 1) \mid U \rightarrow q \cdot \beta = q \cdot \beta + r_0 \mid U \rightarrow q \cdot \beta = q \cdot \beta + r_s$

$\beta_s = \frac{r_0 \pm \sqrt{\epsilon_0 - 1}}{\epsilon_0}$ $\beta_s = \frac{r_0 \pm \sqrt{r r_0}}{\epsilon_0}$

$|\alpha - \beta| \leq \frac{\sqrt{\Delta}}{k}$ $\frac{\sqrt{r r_0}}{r_0} = \boxed{\frac{\epsilon \sqrt{\Delta}}{\Delta}}$

⑧ $x^r - (a+1)x + a s_0 \rightarrow (r_n - 1)(r_{n+1}) \leq \epsilon_n s_{a+1} \leq a s \epsilon_{n-1}$

$(r_n - 1)(r_{n+1}) \leq \epsilon_n^r - 1$

$x^r - (r_{a+1})x + b s_0 \rightarrow$ ~~$x^r - (r_{a+1})x + b s_0$~~

$\rightarrow r_k \neq r_{k+r} \leq \epsilon_k + r_s r_{a+1}$ $= \epsilon(r_n - 1)(r_n)$

$r_k + r_s (r_n - r_{a+1}) \leq 1 - r_s k \leq r_n - 1 \rightarrow (r_k)(r_{k+r}) \leq r_k (k+r) \leq \frac{r_0 r_n^r - 1}{r_n - 1}$

$\epsilon r_n^r - 1 \leq r_{n+1} - (\epsilon r_n^r - 1) \leq r r_n^r - 1 \leq r_{n+1}$ $\boxed{r r_n^r - 1 \leq r_{n+1}}$

⑨ α, β $x^r + x - 1 - m^r s_0$ $\min \alpha^r + \beta^r$

$\alpha + \beta \leq 1 \rightarrow \alpha + \beta \leq (\alpha + \beta)^r - r \alpha \beta \leq 1 + r(1 + m^r) \leq r + r m^r \rightarrow$ ~~$m^r \leq 0$~~ $m^r \leq 0 \rightarrow \boxed{r}$

⑩ $A(y, g), B(-a, g)$ $\alpha^r + \beta^r \leq \Delta$ $y, 1$

$x = \frac{(-a)}{r} = -1 \rightarrow (-1, 1) \rightarrow y \leq a(x+1)^r + 1 \rightarrow 0 \leq a(x+1)^r + 1 \leq (x+1)^r - \frac{1}{a}$

$\alpha \leq -1 + \sqrt{\frac{1}{a}}$ $\beta \leq -1 - \sqrt{\frac{1}{a}}$ $\alpha^r + \beta^r \leq \left(1 + \frac{1}{a}\right)^r \leq \Delta$

$r = \frac{r}{a} \leq \Delta \rightarrow a \leq \frac{r}{r}$

$x \leq 0$ $y \leq a(1)^r + 1 \leq \frac{r}{a} \leq \frac{1}{a}$ $\boxed{\left(0, \frac{1}{a}\right)}$